12K -1% AD_CHE

—— VW
F1 g
18K-1x
Baii, gl 4+ R2 LI
18K -1% AD_CHY
—prLTATEY C>
1BK-1z GRIG?
e T
; AN
'_
£l -1z GPIO
i AN
= R3
o
m i % i
e EZSE _|_3 £Z§E -
= =™~  QOpen DrainPreferred
Like some RA4

D

1. Make GPIO1 as Input (Floating) Open Drain Preferred
2. Make GPIO2 as Input or Output = Logic 0 (Low)
3. Measure AD Channel -0 (averaging recommended)
a. If ADC VALUE = MAX (1023 for 10 bit) THEN
e Make GPI01 as output = 0 (Logic Low) ‘// Switches on 1:10 input attenuator
e Repeat measurements with ADCO keeping mind range. Actual result = result X 10
b. IF ADC Value =0 OR less than MIN Then (Even a flat battery measures something)
e Make GPIO2 as Output = 1 (Logic 1)
e Measure AD Channel 1
1. IF ADC<VDD/2 then input is negative (give some margin though)
2. IF ADC=VDD then input is floating (Cross check with ADC 0)
3. If ADC =VDD/2 then input is shorted to ground



